PW100 %1 / PW100 Series

(FEdmIr4d note) :

H: & (R —R) \
. T HER T _ FERE(EE—XR)
E fEtk Fluid volume for _
) Outlet Consumption for cycle
Code No. Ratio cycle
Pressure(Ph¥*) (L/cycle)
(L/cycle)

PW100003T 31 2Pd+Ps 4.47

PW100004 4:1 3Pd+Ps 2.24
PW100004T 4:1 3Pd+Ps 2.85

PW 100006 6:1 5Pd+Ps 1.44
PW100007T 7:1 6Pd+Ps 1.60 (1.586xPd+1.639)/1.033
PW100011 11:1 10Pd+Ps 0.81

PW100016 16:1 15Pd+Ps 0.56

PW100025 25:1 24Pd+Ps 0.36

PW100038 38:1 37Pd+Ps 0.23

* PH= Outlet Pressure / ** PD= Driven Pressure / **¥* PS = Supply Pressure / Pressure Ratio=PH/PD / signal

pressure> Pd pressure g

Bt ¢ BeEBRENEE(PD) = 6 kglem2, #ER4HER(PS) = 6 kglem2 EE i FIl T 55748 PH i

iy K TERENER(PDVLRE—JHRER & o FTiSEIHYEUE AZAE P k.

Note :If Driven Pressure (PD) is 6 kg/cm2, Supply Pressure (PS) is 6 kg/cm2 pressure,

the T Per minute PH of output jand T Driven pressure consumption by cycle jthe resulting

values in the form described.

RG] & A e BRI RS By PW 100025, 78 PD=6 kg/cm2 H PS=6 kg/cm2 {5EE 5%, Hj
PTG PH WL R 5 FIFS EF R %20 Umini 535 T BES)ER(PD) (iR —JRER R 5 BT

T EtREUE R 10.8L

For example: When High Pressure Gas Booster specifications for PW100025, in the PD

is 6 kg/lcm2 and PS is 6 kg/cm2 pressure, the T Per minute PH of output ; of calculated

values are: 20 I/min; Additionally T Driven pressure consumption by cycle ; of calculated

values to 10.8L.

SN R~ Dimensional Features(Bfiz:mm)
PW1000011E/PW100016E/PW100025E/PW100038E %X%1|(ZEhLEAES))



[PH] port —[PD] port [PS]
r port
PT- 3/8 PT- 3/8" PT. 3/8"
NI
o] 3
o |, |
. @ ©)
O g O
— - 135 _
4-M10x1.5P 56
(1591 I~ T
— i
9
19 © b+
o o
© © ;
L Lo ° o+!
1
a8 445 18 4-M10x1.5P
481 (I#15EFL)

PW100003T/PW100004/PW100004T/PW100006/PW100007T (SREN#EE))

471

M8 445 -~ 13l
e © ol
o o
© ©
Lo ©, :
1% @
4-M10x1.5P - 131 i
Il AL
[PS] port [PD] port BHfpot— B 20 72 _
PT-3/8" PT-3/8" PT-3/8"
—— 1] [
©
° O ]
O - '
o
) .
ed O i
o
! 2-M10x1.5P

(L)

DPW100004E/DPW100006E/DPW100011E (B HFEEN)


http://www.deter.com.tw/picture/zh/product/100128_PW100_1.jpg
http://www.deter.com.tw/picture/zh/product/100128_PW100_4.jpg

331

a

A
©°

O

<

o o
o (]
o o o
@ 9
— -~ 2-M8x1.25P
- 4-M8x1.25P (El5E4L)
(ElES) 130
~[PHI port ~[PD] port - [PS] port 64 24
PT-1/4" PT-3/8" | PT-1/4"
o
- |
5 1
Bo ][} -
| gl P 22 ®
8d
AEADE
L) L)
B ke %
J

PW1000011/PW100016/PW100025/PW100038 (SREN*LEH))

[PH] port [PD] port [PS] port
PT- 3/8" PT-3/8" PT-3/8"

0}

o [
™ Q)

4-M10x1.5P 56
(I15E4L)

60
60

138 ] 445 18 4-M10x1.5P
481 (il5EAL)


http://www.deter.com.tw/picture/zh/product/100128_DPW100_4.jpg
http://www.deter.com.tw/picture/zh/product/PW100-P-JK01.jpg

